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Regional Economic Development
Spring 2014
Midterm Exam

Please answer five questions in Section A.  Then answer both questions in Section B.
______________________________________________________________________________

Section A:
Answer five of the following questions

1.
Discuss the four types of planning detailed in class (e.g. proactive).  Describe what each of them means.  Describe an economic situation that might involve two of the four situations at the same time.

2.
What is the difference between an induced and spontaneous growth pole?  How would you characterize the economic growth pole occurring in North Dakota with the exploration for oil?  In terms of a development strategy, give one reason why we focus on induced poles.

3.
Suppose the city of Bridgeport decides to approve casino gambling (and the State gives its OK).  What potential linkages and spillovers would you expect from the installation of a growth pole of this kind in the city (or would you)?
4.
5.
Briefly describe the changes in the U.S. labor market over the past three decades.  What opportunities and challenges have resulted?  Why might planning be necessary to address these changes?
6.
Briefly explain the challenges that Parr noted in his article regarding Growth Poles.  Make sure you address:

-Number and size of poles


-Spontaneous v. induced poles, and the impact this has on the appropriate size of poles

7.
Explain what a food desert is. How does effective demand play into creating food deserts? How does the concept of Opportunity Cost impact how those living in food deserts respond?

Section B:
Answer both questions.  Each limited to 4 blue book pages
1. Suppose the U.S. would like to pursue a growth pole strategy to develop part of the “rust belt” (think Ohio or Pennsylvania).  Describe in detail the details of such a strategy.  Make sure you address:
a. The location of poles

b. The size and orientation of poles

c. How the strategy would address development throughout the region

d. The potential spillovers and linkages from the poles
e. How industrial clusters would improve the economic outcomes arising from the  poles

II.
Based upon some of the criticism of the growth pole strategy in class (e.g. Parr’s arguments), how would you avoid the problems that have plagued the growth pole strategy?

2. Explain and distinguish between the economic concepts of linkages and spillovers. What are backward and forward linkages, and which are more important to economic growth? 
a. Which industries are more likely to produce strong linkages?

b. Discuss an automobile plant and its linkages. Discuss SteelePoint and its spillovers. Compare to HarborYard.

